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Question Number : 1 Question Id : 5471142701 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Who proposed the spontaneous generation theory?

EYEST0 JTPoER) AN (HBPROTD?
"]
Options :

Darwin

=80



Aristotle

BB
2.v =
Franklin
(3088
3. %
Galileo
neeaiTe
4.

Question Number : 2 Question Id : 5471142702 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Swan neck flask experiment was performed by

S I8 PF) BAPK0 AS5B BTLH?

Options :

Louis Pasteur

OTCONR i‘ﬂ%E

1. %
Aristotle
@6&;&35
2. %
Darwin
9655



Jacob and Monod

28 2085w IeSE

Question Number : 3 Question Id : 5471142703 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which organism produces gobar gas?

FPabmrid & £ 688 S%08?
Options :

Bacteria

araBasr
-]

Archaebacterna

©8) aj'ﬂe%&{:ﬁjv
2. ¥

Fungi

BOo(gren
3. %

Phytoplasma

i)
4, %



Question Number : 4 Question Id : 5471142704 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Death of cells in small areas on the leaves due to viruses is known as

B8R g Hgros® B3 (Frosrod® Swro %8 308 HORS

Options :
Distortion
2BAEH e

1. &

Defoliation
QD (Seazin

2. %

Necrosis
éaaﬁ“ﬂécﬁoaﬁn

3. ¢

Chlorosis
K}gnﬁbééaa
4, %

Question Number : 5 Question Id : 5471142705 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The shape of TMV virus

TMV 380 e9se85m0

Options:



Spiral shape

ﬁﬁajﬂ“ Se8e30

Rigid Rod shape

55D SomsEn
2. ¢

Comuma shape

Sea0° 950510

Spherical shape

Flgrordsn

Question Number : 6 Question Id : 5471142706 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Bacteriophages were first discovered by

EOTr DD It DS ESFTND?
Options :
William Twort

DOSHo 6555
1.¢ 0T

Beijerinck
DR60E



Stanley

8
3. #®
Griffith
(DS
4. %

Question Number : 7 Question Id : 5471142707 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In Bacteria pigment bearing structures are called

r880sre® $B5Hn BOA &%) Jouereid A wotrdh?

Options :
Protoplasts
85 Hregbnen
1. % 3
Chromatophores
(B 5mest8Ben
2. ¢
Chloroplasts
508 TeanHen
3. %



Spheroplasts

NG rHen
o~ ™

Question Number : 8 Question Id : 5471142708 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which is the causal organism for Citrus canker?

Qg Broend BN 2D A6?

Options :
Bacillus
EP?‘JQE
1. =
Erwinia
DB
2. %
Pseudomonas
SRE 3T
3.
Xanthomonas
oS 3D
4, &

Question Number : 9 Question Id : 5471142709 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Asexual reproductive structures in bacteria are known as

&8ss’ @Bons (85818 oo Dotrd?
£ — —z

Options :
Akinete
8¢5
1. %
Heterocyst
ARSI EW
2. ®
Exospore
gDt
3. %
Endospore
©088 DDesin
4. ©

Question Number : 10 Question Id : 5471142710 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Intercalary meristem is present in the following algal form

E.'Jacéé}g Dgresgy Seseroain &8 (Eob Ea’msﬁnéﬁ &S00,

Options :



Ectocarpus

aéjsbqjﬁ
1.4

Polysiphonia

O YIS
2. %

Ulva

@@ﬁ
3. %

Chara

Sxlol
4. %

Question Number : 11 Question Id : 5471142711 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Kelps are obtained from
B85 ) 0 &R Hod roHErsn
Options :
Brown algae

FP0sh Bdesn
1.9



Red algae
QY BPHedw

[T,

Green algae

@é:&iﬁtj BRIV

Blue green algae

9 e%dH) Bdedw

Question Number : 12 Question Id : 5471142712 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which is the reserve food material in Algae?

3Sered® Juy ESFEITEED DB?

Options :
Fat
SVl
1. %
Proteins
E’)Jvoﬁ%é_gw
2. #



Starch

208G émngéao

Organic acids

é@jé S37°eD

Question Number : 13 Question Id : 5471142713 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which fungi produce citric acid?

D 8dolgren HIBE wiEnd 6&S IFaw?

Options:
Penicilliuim
EJSJE)C&O

1. %

Claviceps

AR

2. %
Aspergillus niger
80800 316

3. ¢



Rhizopus

Question Number : 14 Question Id : 5471142714 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which is Imperfect fungi?
& (Bob 8S° DD ©dory Bdogren?
Options :

Puccinia

5828

Penicillium

_“.;J?G‘:Jé)dﬁao

Colletotrichum

868 @50
3. ¢

Albugo
@@aajﬁs

4, %



Question Number : 15 Question Id : 5471142715 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Leaf curl disease of Papaya is caused by

SPamand® s SnEE BrHen so80E»

Options :
Bacteria
8005

1. %

Virus
S8R

2. ¥
Fungus
BOo(E35w

3. %
Mycoplasma
DE R

4. %

Question Number : 16 Question Id : 5471142716 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Vegetative reproduction in Lichens takes place by

F85S° HIHEB DBToe edoidEod

e ™M



Options :

Akinetes
©83¢5en
1. %
[sidia
o alateney
2. ¥
Bulbils
3}&)3}5@3
3. %
Carpogonium
E“Si‘)ﬁsgjiﬁﬂﬁﬁ
4, %

Question Number : 17 Question Id : 5471142717 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Who proposed the theory of Progressive Sterilization in Bryophytes?
L@EPPEE° (K0 S0 TEEND A5G (HBFBoTE?

Options :

Kashyap
SENS



Goebel

P3eS
2. %
Church
6513
3. %
Bower
5856
4.

Question Number : 18 Question Id : 5471142718 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sporophyte with indefinite growth occurs in

& (8ob BE* Lgarsin JBHE DBHERE® D)ool

Options :
Liverworts
D565%5en

23

1. %

Mosses
Sroen
2. #



Homworts

5’355&5%@
Ferns
2Gen

4, %

Question Number : 19 Question Id : 5471142719 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which plants produce Gemma cups?

D FwHen BEEHIPO 6HY Brow?

Options :
Anthoceros
S0 DEH
1. %
Marchantia
é:vungfoiqdjv
2
Riccia
Eﬁ%gciﬂ?
3. ®



Polytrichum
PO BESD

Question Number : 20 Question Id : 5471142720 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is an aquatic fern?

& (80b 8BS wess &) 26?

Options :
Salvinia
POCIT

1. ¢ 2
Psilotum
5%

2. %

Pistia
eydiTe
(&)

3. %

Lotus
S
4, @

Question Number : 21 Question Id : 5471142721 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which Pteridophyte 1s used for curing skin disease?

S8 TR Sabiim VHeeRS O BOE P eSTrASRE0H?
Options :

Lycopodium clavatum

BE*VWEDHD et

1.
Selaginella
ePRIer
2. ®
Adiantum
& oot
3. &
Psilotum
5%
4, #%

Question Number : 22 Question Id : 5471142722 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Club moss belongs to

ES oo 308 Bobss?



Options :

Bryophyta
& Rer
1. %
Pteridophyta
BoE e
2. %
Fungi
BOolgren
3. %
Algae
SRR
4. %

Question Number : 23 Question Id : 5471142723 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which is the main source of Canada balsam?
S o E}E.IJE:,E?E‘?JE&IDJ o0& ©8nob?
Options :
Abies balsamea

@R @rey s
1.¢



Pinus

:3'.3265

2. &
Cycas
VSR

3. ®
Gnetum
Herso

4, %

Question Number : 24 Question Id : 5471142724 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Endosperm in Gymnosperms is formed

)8 Derod® @oHBEHEIN & SHeHINE® DB
Options:

At the time of fertilization

PobdEBeno @) HB5oaHEn

Before fertilization

Pobsdmo Snokh
2. ¥



After fertilization

Sobs8no S$Hhars

Along with the development of embryo

oo @@é&%ﬁs Euiloey

Question Number : 25 Question Id : 5471142725 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Archegonia are absent in

& Derdobsiven SIS GokH

Options :
Gnetum
Hers
1.9
Cycas
VSR
2. #
Pinus
E._:I_ESE
3. %



Ephedra

e

Question Number : 26 Question Id : 5471142726 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Who proposed Tunica-corpus Theory?

€0JS°-SPB)D VIPoB°RY) DS (DBBBoTT?

Options :
Haberlandt
3’35335@505

1. &

Guttenberg
8

2. #

Schmidt
2085

3. % Q:E

Hanstein
SBShons
4. % £

Question Number : 27 Question Id : 5471142727 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Companion cells are associated with
SeSmsnen HAS° Bod &otHd

Options :

Sieve tubes

TPl Teeeen

1.¢
Cambium
gresys Sered)
2. %
Xylem
ilevly)
3. %
Collenchyma
Ko &tesmaresn
4. %

Question Number : 28 Question Id : 5471142728 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Tyloses are found in the walls of

gﬁsﬁﬁ Ala) é)t?g@és &oeTan

Options :



Xylem tracheids

et Besren
1. %

Sieve tubes

Tod roren
2. ®

Sieve plates

ol Hosten
3. %

Xylem vessels

oo PETen
4.9

Question Number : 29 Question Id : 5471142729 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Determination of plant age is by
SnBe SN & DForr ZoPB
Options :

Based on number of branches

TP ﬁomé espedore



By measuring diameter

aﬁgp‘.’:o BPox&o TPoe

By counting annual rings

a'ﬂf;}&é Sexddre @@%Drﬁé@ Ny
3.¢¥

By counting number of leaves

dEre Doz B88ouEo Toe

Question Number : 30 Question Id : 5471142730 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Abnormal secondary growth is present in

ST artelo &5«@ ﬁa&i&% HQSE SR

Options :

Rice

la)

Wheat
5500

3.v



Dracaena

(525

Cucurbita

550N
4. % iz

Question Number : 31 Question Id : 5471142731 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The hard portion of Wood is
TEHSE® §)ES grKo

Options :

Heart Wood

0STEHS)
1.¢ “

Sap Wood
BITTED

Spring Wood
H¥0s T



Xylem rays

o8 Dgen

Question Number : 32 Question Id : 5471142732 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

National Botanical Research Institute 1s located at

P8AD Y TR DO B0 K Gob?

Options :
Shillong
Seon

1. %

Dehradun
[ ElnSRS)
2. %
Lucknow
a%il
3. %
Delhi
&9
4, @

Question Number : 33 Question Id : 5471142733 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Rare and endangered plants are listed in

BT DB (Edrsind® HES (608D §°6%\5K) I HO%00TH,
Options :

Meteria medica

DB DB
1. %
Genera plantarum
23T° SROEFPED
2. %
Species plantarum
NN FotrSESH
3. %
Red data book
BETer (Hoskm
4.

Question Number : 34 Question Id : 5471142734 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Natural system of classification of Angiosperms was given by

s¥ Derod® Sire HHELH SEY D SSAFANIG

Options :



John Hutchinson

PR SINOIR
1. %
Bentham and Hooker
Bogdd HdAsw FES
2. &
Engler and Prantl
2036 Hobdkw (Frotrd
3. %
Heywood
HE
4. %

Question Number : 35 Question Id : 5471142735 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Binomial System of classification was first methodically used by

Exransden SEO H0E8nE EBT SSSARADS G

Options :
John Ray
oS B

1. %



Engler and Prantl

Doiib Sobdsw (Frotrds

Carolus Linnaeus

86°0R OYAHR

Andrea Caesalpino
@o|&air APLLT

Question Number : 36 Question Id : 5471142736 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which part of the Cinchona plant yields quinine?

RoE° nHE'D O Ko BBID &S Tnod?

Options :
Leaves
eBen

1. =
Flowers
e

2. ®



Roots

Bark

20D
4.

Question Number : 37 Question Id : 5471142737 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which family is the largest family of Indian flora?

FEEAD HBereos® O Hinono ©d 2E Henowo?

Options :
Solanaceae
Py

1. =
Gramineae
(PS

2. ¢
Orchidaceae
@B@é?o

3.



Fabaceae

EVETALS

Question Number : 38 Question Id : 5471142738 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Hemidesmus indicus belongs to this family

EPSJJE@E 20880 & SHénoerdd Jobds

Options :
Milk weed family
333527535 Eén020
1.4
Mint family
Hbae SHenomo
2. %
Sunflower family
PLRBBIHE Hewowo
3. %
Castor family
@0 Beénoo
4. %

Question Number : 39 Question Id : 5471142739 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Botanical name of Red Sandal Wood 1s
Y Sotsdo ) Bo¥) FRCH TS H6

Options:

Pterocarpus santalinus

3555“5‘35 FPOLBIV
1. ¢

Casuarina equisetifolia

seer0nr S8R @PtOaie

2. %
Tectona grandis
B8 (PodS
[~
3. =%
Terminalia alata
e;aé:éaﬁ:o BT
4. %

Question Number : 40 Question Id : 5471142740 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The term Taxonomy was proposed by

5088 TRID ©F P S (H8FBOTE?

Options :



Darwin

6?655
1. %
Aristotle
E}&@‘aéﬁﬁ
2. #®
De Candolle
& Bo&sS
3. %
Linnaeus
@E&cﬁaﬁ
4, %

Question Number : 41 Question Id : 5471142741 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Nucellar polyembryony is reported in
©oTrod Swere aiodoid &SP KHdesn.
Options:

(rass

"
[re]

2. %



Citrus

2éoR
Trillium
(BOcho
3. ®
Pea
Ao
4, %

Question Number : 42 Question Id : 5471142742 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Function of the endothecium in anther 1s

STKE EwE® woghBEN BwE) DG

Options :
Dehiscence
é‘li‘:,é.:&‘f:m

1.9
Mechanical
adoro(EBE 50

2. ®



Nutritive

8
Protection
égm

4., %

Question Number : 43 Question Id : 5471142743 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Main function of comose seeds in Asclepiadaceae
@EJ%EJD&EE?G@E S DETre Sogg DG

Options:

Seed germination

QEI oBdes

1. %
Seed dispersal
DES 53
2. ¥
Seed hibemation
DED i
= @
3. #



Quick sprouting

E°080TP Swessio

Question Number : 44 Question Id : 5471142744 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Ovule type in Asteraceae family

@502 Hewoaind® woksn 880

Options :
Anatropous
I Voisaw
1.¢
Hemianatropous

@) JE woXsm
N

Circinotropous

SOYF SR worksw

Amphitropous
SES wotisin



Question Number : 45 Question Id : 5471142745 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Pollinia are seen in

Sorr Tewd) Swgen DBS® Goéraw.

Options :
Amonaceae
@553

1. %

Asclepiadaceae
o..9 o
@%ﬂdﬁ]én&

2.9
Rutaceae
B7o&3%

3. %

Apocynaceae
(=2 E ?{\_33?\3
4, %

Question Number : 46 Question Id : 5471142746 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Male gametes are formed in Angiosperms by

R Sodr deren, oF)F derod® 82 S0l DG,



Options :

Vegetative cell

Z8a%H Bmo
1. %
Tube cell
T8 Bwo
2. #
Prothallial cell
(DPr0BE Beso
3. %
Generative cell
ﬁ@ﬁﬂjﬂﬁé 520
4.

Question Number : 47 Question Id : 5471142747 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is the water potential for pure water?
BT B8 A FHogso Dd?

Options :

One
2. 58



Zero

o
2. ¢ =
Infinite
050
3. %

More than mfinite

o080 o0& aézgfé

Question Number : 48 Question Id : 5471142748 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Closing of stomata takes place due to

D|SBolgren HorensiSto & Bod d S wbirbiod

Options :
Cytokinin
265808

1. %

Abscissic acid

@5}3?@5 9300
2.



Gibberellic acid

ﬁagagg 500
4, @

Question Number : 49 Question Id : 5471142749 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Water soluble pigment

DBS® 8BR SYESg0
]
Options:

Carotene
35°835

Anthocyanin

@055:’@@5

Xanthophyll
oSS

Chlorophyll
§°5°&



Question Number : 50 Question Id : 5471142750 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which is the activator for Tyrosinase enzyme

BERIRD JoFH G@w¥) cir§Red 26?

Options :
Zinc
208
1. =
Magnesium
&ﬁ&?ﬁﬁao
2. ®
Potassium
SPEFRCH0o
3.
Copper
o
4.

Question Number : 51 Question Id : 5471142751 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which element is playing important role in Nitrogen fixation?

NGER @;a’:ém@& 2 Saredo Hoggl aRE SFos?

Options :
Copper
o=
1. %
Manganese
S0
2. %
Zic
205
3. %
Molybdenum
Jr8)So
4.

Question Number : 52 Question Id : 5471142752 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Iron 1s essential in this reaction

088 8 SE56° LoogygHoorr eDBrKBESH08
Options :

1.4



Chlorophyll synthesis

HESe08 KSodiee

Redox potential

BeE) ey

Reaction involving electron acceptance

e & B
W&L_sgﬁ 2 EBen S8

Chlorophyll synthesis and Electron acceptance

HB0E SoFnesn DO VS B S8
4. %

Question Number : 53 Question Id : 5471142753 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
This element 1s essential in the synthesis of TAA
& Soresin JAA IHEEI8 085w
Options :
Zinc

205
1.9



Manganese

Sroidd

Boron

SoeS

Chlorine

&85

4, %

Question Number : 54 Question Id : 5471142754 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The following 1s hydrogen donor during photosynthesis in green plants

i) s’ Smety So@eiBe a6n SHabod® IPE RS wEm & (§ob 86"
A0 EHRRSE%08?
Options :

Water

_— Qe

Carbohydrate
=8 @E

2. %

ATP



Coenzyme

85085
4, %

Question Number : 55 Question Id : 5471142755 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The end point of Oxidative phosphorylation is
s8)58e FANBBLS EwE) SwhowH FLo

Options :

NADH

Oxygen

882

ADP

ATP+H20

Question Number : 56 Question Id : 5471142756 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In which part of the C4 plants Kranz anatomy was noticed ?

Cﬁmé&&aés Q grisos® (rof waredd Khosatod?

Options :
Leaf
1)
1.4
Root
Ffob)
2. #
Stem
isilelnle)
3. #
Flower
DR
4. %

Question Number : 57 Question Id : 5471142757 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

One of the following is the source of CO; acceptor in Cs plants

8ob BE° C3 IBed® COLH (KIPoHiH

Options :

1. %



Phosphoglyceric acid

FN20E airdE

Phosphoenol pyruvate
TGS DEBES

Ribulose monophosphate
Ben&tH 53‘3553‘_:5\.}“]&5

Ribulose 1.5 biphosphate

Bens®E 1,5 BP0
4. w

Question Number : 58 Question Id : 5471142758 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which part of Mitochondria ATP synthesis occurs?
DesProlBairs® HBD (ATP) Kok & grros® atiheod?
Options:

Outer membrane of Mitochondria

DesrolBair @o¥) CHBIFE



Maftrix

a’nvéﬁjé
Cristae

&%

3. ® L =

Inner membrane of Mitochondria

De&oldcir @nE) °5D &8
4. v

Question Number : 59 Question Id : 5471142759 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The first product of Kreb’s cycle

Kreb’s Sexcdo @mé& ERelAlh) &5y

Options:
Citrate
2ES

1.4
Malate
S08¢5



Oxaloacetate

easg:]ég D&

Fumarate

Io550065

Question Number : 60 Question Id : 5471142760 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which part of the cell organelle photo phosphorylation takes place?

Eerorisnd™) O grKEnG® 08 FRABBRS wbihiod?

Options :
Stroma lamella membrane

e oroer 8

1. %

Thylakoid membrane

BerSong 0%
2.¢v =

Grana membrane

(P 8
3. %



Matrix
e

Question Number : 61 Question Id : 5471142761 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The final acceptor of electrons in the electron transport chain is

oS borer FPeoknd® Joggd DKo (K&roin

Options :

Oxygen

882

COy

ATP

H-O

Question Number : 62 Question Id : 5471142762 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Vernalization was discovered by

IEJEAS D S BoFPam?

Options:
Lysenko
BRos®

1.9
Linneus
aﬁ&iﬁaﬁi

2. %

Aristotle
@&3;@5

3. ®
Krebs
B

4. %

Question Number : 63 Question Id : 5471142763 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What 1s the name of the plant hormone that causes fruit to ripen?
Hoth $57R8 By e HEYS D d?

Options:

1. %



Auxin

IS

Gibberellin

ﬁaaﬁ‘}QS
2. ®

Ethylene
=Tatals

3.¢

Salicylic acid

FOXOE wpo
4. %

Question Number : 64 Question Id : 5471142764 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which hormone is responsible for an increase in the rate of Photosynthesis?
8y SodrKSab Den e SEmidy FET 267

Options :

Kinetin

3385

1. %



Cytokinin

265808
2
Auxin
@5{35
3. %

Abscisic acid

o)DE eho

Question Number : 65 Question Id : 5471142765 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Gibberellins are first extracted from

AzBYSo% ke B B0l AZBes Babadie?
Options :

Bacteria

erdaasr
[ A

Virus

365



Fungi

%@o@w
Algae
BHTPeD

4. %

Question Number : 66 Question Id : 5471142766 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The chromosome is made up of

E53rst S B08° SoirdhrBchadod?

Options :

Protein

A5

RNA

DNA

DNA. RNA, Proteins

DNA, RNA, @8
4. &



Question Number : 67 Question Id : 5471142767 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Polyploidy is mostly induced by
2RBESED & DS IS (WOvOSESHOH
Options :

Colchicime

SN

Irradiation

BAGNS

Mutagenic chemicals

&30 I P88 BPchaeen

Ethylene
2698

Question Number : 68 Question Id : 5471142768 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Microfilaments are composed of a protein called

) BodoHen D @EAS % EOA soerow.



Options :

Tubulin
wvéari}ﬁ
1. %
Actin
w85
o
2
Myosin
DHRTHR
3. ®
Chitin
385
4, %

Question Number : 69 Question Id : 5471142769 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Who discovered Restriction enzyme?
HBMWB NoFNd (B BT to?
Options:

Daniel Nathans

QDS TEF)

1. %



Werner Arber
55&5 @658}5

Watson

aﬁé.anﬁ
3. #

Griffith
BDE

Question Number : 70 Question Id : 5471142770 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Genetic information in a DNA molecule in coded 1n
B.08.0 edHSE SRV vt Ho885m 20E° Sotnod
Options :

Base pairing

LAE:*E'S 23¢8

Base proportion

=6 998



Base number

g0 ﬁoa:fé

Base sequelnce

SEESoED
4.+

Question Number : 71 Question Id : 5471142771 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Who proposed the Chromosomal Theory of Inheritance?

Ear&sve eHB088s drroard) IS (H8FBOTH?

Options :

Sutton and Boveri

3635 HoBcsw £°38
1. =

Boveri and Morgan

R0 2085w Boieils

Sutton and Mendel
ﬁ%ﬁ 208050 bord



Morgan and Mendel

3}0025 Sodan oRS

Question Number : 72 Question Id : 5471142772 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Linkage was first observed in which plant?
BB 005 O IS Koomed?
Options :

Vinca rosea

Dose Saasie
1. %
Lathyrus odoratus
rHED a.E5860
2.
Adiantum
el csroéro
3.8
Pteris
&85
4, @

Question Number : 73 Question Id : 5471142773 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Monohybrid test cross is

D HoBBeans® H08 AN

LG9

Options :
11

1.9

il |

| 5t |

o |

Question Number : 74 Question Id : 5471142774 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Incomplete dominance is present in
KoY wEPPES0 HAS® EdatoEob.
Options :
Pisum sativum

2 WBSS

1. =



Oenothera lamarckiana

LB e85

Lathyrus odoratus

BER .00

Mirabilis Jalapa
DTAOR aerar

Question Number : 75 Question Id : 5471142775 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Phenotypic F» ratio of dihybrid form
&ﬁﬁoéiﬁm H0E8edne® Joss rﬁej-‘z%tﬁ:fﬂﬁo K}'@Jg
Options:

%5 |

1. %



Question Number : 76 Question Id : 5471142776 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A process of involving a gene or gene pair supressing the expression of another

non-allelic gene is known as

o8 g B8 wigdo a8 DHOEE ©de) ald @¥) Bargy HEYHH emibbd

2B B
Options :
Homeostasis
:ssﬁzz}ﬁszﬁ%ﬁ
1. =
Reversion
&(&)350ea330
2. %
Epistasis
5
3. ¥ =
Hypostasis
TRERRT



Question Number : 77 Question Id : 5471142777 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What 1s the second law of Mendel?

DoES (HOFBoNS BokS BrE@sn DB?

Options :

Law of dominance

2erHSESY {°(En

Law of segregation

QwEBes oe(@sw

Law of independent assortment

B\ LRg Kige(o

Law of partial dominance

8% @88 Jov(Gaw

Question Number : 78 Question Id : 5471142778 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In plant breeding most commonly used methods for production of new Varieties

Do (Hedsing’ £F Siivod 88 Sahed sd@rhoD 68 Frl; 48



Options :

Selection and Hybridization

NBeaa30 0BT DoBGEss

1.4
Selection and exposure to radiation
L, SPen $Hd BEGHRSE HBTcsme
LR
Mutation and Selection
, &S0IBHE oA HBeaxin
. B
Vegetative propagation
FPH B
4. %

Question Number : 79 Question Id : 5471142779 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The quickest method of plant breeding is
I DoDEo BE) INBoEDHS HE8
Options :

Mutation breeding

&E0HOR (Desddamw
1.4



Hybridization

DoEBeasn
Introduction
DS AHSD
3. #
Selection
PaTelacra oy
4. %

Question Number : 80 Question Id : 5471142780 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Clonal propagation method is used in this Crop
& Sowd® 36 (88 DI SBARAFTE
Options :

Rice

56

Wheat
aY(ASTS



Sorghum

&)

3. %
Sugarcane
letcy

4.

Question Number : 81 Question Id : 5471142781 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Central Rice Research Institute (CRRI) is located at
Solls $B 0SS BoP & (HRTEWS® aHd

Options :

Simla

-]

sy

Cuttack
=TS

New Delli
69



Kanpur
SvS)

Question Number : 82 Question Id : 5471142782 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Who is the author of the book “Origin of Cultivated Plants’?
‘9BaS 6 EQBBE oty & (Kogdn @wE) ESond JHE?
Options :

Darwin

=8Q

Lamarck

@0“33“5@

De Candolle

& Bo&sS
3. #®

Vavilov

TRePH
4. &

Question Number : 83 Question Id : 5471142783 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In which of the following interaction both partners are adversely affected?

B0B & BB SG8° GPUFEROGER (H8EROOT ([HrOSDHYED?

o

Options :

Competition

forérsn
1. ¢
Predation
DBEEES
2. #®
Parasitism
DT B5550
3. #
Mutualism

a’:ﬁﬁn‘ji‘j 35PN

Question Number : 84 Question Id : 5471142784 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Ecological ‘niche’ is normally occupied by

858 500G VY’ @ﬂs’mc‘éémrw 30&° 5800 &otnod?

Options :



A population

25 anrer
1. %
A small community
a8 DR DATeCHA0
2. %
Competing genes
oo a2dogeden
3. %
Competing species
DR (Heeden
4.

Question Number : 85 Question Id : 5471142785 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Plants that grow in acid soils are known as
) é:&@é@% 281 SNF)OD Y° WOLFD
Options :
Therophytes

&85 eSen

1. %

2. &



Oxylophyvtes

88 5
Geophytes
B eSen
3. %
Glycophytes
B8°eSen
4. %

Question Number : 86 Question Id : 5471142786 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In primary succession in water the pioneer plants are

ABS® 0T (PPDE LHEHD SrBEYE In¥es ad

Options :

Free floating angiosperms

SOA5rE S DesSmen

1. %

Small phytoplanktons

%) HY HSven
L, TRRER



Rooted hydrophytes
PSHHFFowS IS Io¥)en

Lichens

ge5y

Question Number : 87 Question Id : 5471142787 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Who demonstrate the energy flow in an ecosystem?

Sorgstes S50 48 (DRI DB (H8FOOTE?
Q@ = =8

Options :

Lindeman

Doke
1.9

Odum
8,580

A.G. Tansley
A.G. &rQ)



Question Number : 88 Question Id : 5471142788 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In pond ecosystem Wolfia plants belong to this group

2.8 DB Henon shds éﬂg{)@é‘s &8\ Swé%w % $515868 3063

Options :

Marginal macrophytes

&arod dre S0E)en
G

1. %
Floating macrophytes
SO Ko InGen
2.¢¥
Phytoplankton
QE D580
3. %
Submerged macrophytes
S0AA oy “’nﬂ;@ SoEen
4. %

Question Number : 89 Question Id : 5471142789 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Grass lands with scattered trees are called

SOBacted Hre Jep Fbtr soll TN & Horr dePs
Options:

Savannah

-

ReaT™y
oA

Deciduous forests

esSTeen @55‘395@3

2. ®

Evergreen forests

HeseE B @éesgm
3. 8

Rain forests

-

3’3@1@ &8 @&'aﬁéw

4, %

Question Number : 90 Question Id : 5471142790 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Lithophytes grow in or on
06" pt5en DD Yodn

Options:



Trees

3ex

1. =
Sand
08

2. #
Rocks
o)

3. % %
Water
5%

4, @

Question Number : 91 Question Id : 5471142791 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In Ecological Succession which one is the stable community?

858eHEH5nE? QBN K0T 0?

Options:
Pioneers
PG Hen
1. % ¢

2. %



Climax communities

285D Dot ddinen

Seral communities

EH8ah DSwmrahsnen

Invaders

| Esoeatreoen
4. %

Question Number : 92 Question Id : 5471142792 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The most important reason for reducing biodiversity is
£35 DG SAFPFSTIS (Heed s*Geasio

Options :

Global Warming
98 effide DG

Destruction of habitat

E35T°r 50 S)c‘,ﬂcgoﬁa’m



Net primary productivity

DG (FPHNE 6o K8

Biological magnification of DDT

&&8& (DDT) Gw¥) £5 esgssw
4. %

Question Number : 93 Question Id : 5471142793 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is an endemic plant?

& (Bob BE® FE Ing) B?

Options :
Gnetum
RIS

1. %
Cycas beddomei
20 BED

2. ¢
Gingo biloba
Aol B&%er

3. %



Pisum

Question Number : 94 Question Id : 5471142794 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Biodiversity hot spot in India

PE8G0E" 5350 @) HYSJN HdTen I sTo0?
Options :

Thar desert

o6 I8
1. =
Bay of Bengal
2DOIMTE°gTe0
2. %
Western Ghats
D8y Edoshen
3. %
Eastern Ghats
éaviﬁou] Bosnen
4, %

Question Number : 95 Question Id : 5471142795 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
International Biodiversity Day is

©oSTrAaH XIS BT E)Hkm

Options :

April, 2274

DS, 22
1. =
March. 25%
5708y, 25
2. &
May, 22
a0, 22
3.
November, 15t
SHoa8, 15
4, %

Question Number : 96 Question Id : 5471142796 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The group of endemics which exists in the areas without any changes

o é:ﬂﬁ:;ﬂjéﬁ) Bwodt sod s

Options :



Schizo — endemics

28 -FA0D erden

1. %

Patro — endemics

F(E°- PR erden
2. #®

Palaeo — endemics

29Br- PHH emen
3. ¢ i

Apo — endemics

ok - 5;5@53 eeefoen
4. %

Question Number : 97 Question Id : 5471142797 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Community is an assemblage of
BENTPaHED ©sd DB HHuredesn
Options :

Similar species of an area

28 [Frossndt a8 855 arden

1. %



Different species of an area

2.8 [Frodsnetd DY e Jodd EHen

All populations of an area

&8 (PoSEnEtD) esmrgren o)
3.v

Only one population of an area

28 [Frossndil a8 6008 Bobs £Hen

Question Number : 98 Question Id : 5471142798 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A sigmoid growth curve is related to this aspect of population
?iJrTbéGJJE E.’)ej% B esorer @w¥) & 00708 Sow0hodIb.
Options :

Population density

ed Jrolses

Natality
2355 Déw



Mortality
SoBEa0ED

Population growth

e adorude
4, &

Question Number : 99 Question Id : 5471142799 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

One of the following is an endospore producing bacterial genus

& (80 E° 258 woss B e s Jab oose (Herd

Options :
Myxococcus
&%?é&ﬁ

1. %

Bacillus
PRVR

2.

Methylosinus
DPSTDED
3. %



Streptomyces

@ﬁ&?&ﬁ
B S

Question Number : 100 Question Id : 5471142800 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Sieve plates are present in

eod dosven HYSE SHEATY Jow

Options :

Vessels

P& PEreD

Companion cells

HeBeseen
2. ®
Sieve tubes
ol Treren
3.

Sieve cells

ol Beren



